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5 =iF IEA 47 | 37 84 13.2 | 70.8| 235045128 30 = |B 48 52 100 |27.6 | 72.4 23%047128

6 Alll EAX 36 | 36 72 | 1.2 |70.8 23048118 31 BFA B 44 43 87 |14.4 |72.6 | 23t%04811H
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8 Al && 36 34 70 |+1.2 |71.2 23tF04811H 33 |FAH Z=[A 48 |51 99 [26.4 |72.6 23%047118
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55 HA AE 49 46 95 21.6 | 73.4 23%04712H 80 &1 5l 48 43 91 16.8 |74.2 23:048128
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63 &t L RT” 44 | 38 82 | 8.4 |73.6 23%04812M 88 A R— 42 142 84 | 9.6 74.4|23%04m128

64 |l K"” 43 44 87 13.2 |73.8| 23%04A128 89 =t 44 |46 90 |15.6 |74.4 23%047128

65 |[ElE B3 48 |45 93 19.2 | 73.8 23%04712H 90 |{E42 K A= 45 45 90 15.6 |74.4 23%04711H

66 PRFH =3 50 48 98 24.0 | 74.0| 235045118 91 {FHE FEX 42 | 42 84 | 9.6 |74.4 | 23045128

67 EH jEfE 52 46 98 24.0 | 74.0| 23%048128 92 Al EA 39|39 78 | 3.6 |74.4 23%048128
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112 HESE &1 44 43 87 12.0 | 75.0| 23048128 137 | 2K[H pEH 54 54 108 132.4 | 75.6 | 232048128

113 17K 15 46 | 47 93 |18.0 | 75.0 23:045128 138 FH =i 46 |43 89 |13.2 75.8|23%048128

114 /\fg ELEZ 46 47 93 18.0 | 75.0| 23045128 139 2 FEE 43 46 89 [13.2 | 75.8] 23045128

115 $RE BE 46 |47 O3 |18.0 | 75.0| 235048118 140 2= ALt 47 54 101 25.2 | 75.8 23%#048128

116 T f% ST 45 |48 93 |18.0 | 75.0 23%04812H 141|7KE¥ R A 49 | 46 95 19.2 | 75.8| 235048128

117 | 1A% 5 44 |49 O3 |18.0 |75.0 23%048120 142 {FiE §a 50 |45 O5 19.2 | 75.8| 235048120

118 TfE Y+ 49 49 O8 |22.8 |75.2 234048120 143 | Z7f% [ 42 46 88 [12.0 | 76.0| 235048128

119 EH E& 44 42 86 10.8 |75.2|23%04A118 144 2B BF] 41 41 82 | 6.0 76.0| 235048128

120 ¥4 Wil 48 50 98 |22.8 | 75.2 23%045128 145 KB AETR 45 | 49 94 [18.0 | 76.0 23045128

121 || £ B— 47 |45 92 16.8 |75.2 23%04A12H 146 Zx[H J\FAK 48 | 46 04 18.0 | 76.0| 235048120

122 §5 & 44 42 86 10.8 |75.2 23%04A12H 147 R BSA 49 | 51 100 /24.0 | 76.0 | 235045128
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163 FLlU & 47 50 97 120.4 |76.6| 237045128 188 |{RfE £F 47 145 92 14.4 |77.6| 237045128

164 s M — 44 53 97 20.4 |76.6| 23047128 189 |/\¥¥ 1% 54 | 44 98 |20.4 | 77.6 23t045128

165 FIE FHE 44 | 53 97 20.4 |76.6 23%047128 190 |/t |+ HF— 44 48 92 14.4 |77.6 23%04R128

166 FxfE 1EAI 44 | 41 85 | 8.4 |76.6 | 23%04A128 191 Eif 85 48 |50 08 20.4 |77.6 23048128

167 Eif B 52 51 103 26.4 76.6|23%04A11H 192 |f%E B{E) 42 /50 92 14.4 |77.6 23%04A11H

168 fllif JBHA 50 41 91 14.4 |76.6| 23047120 193 A)ll 1E 55 54 109 31.2 |77.8 23%04A11H

169 ;B4 1% 49 | 48 97 20.4 |76.6 23%048120 194 | FAH Z#E:C 43 | 42 85 | 7.2 |77.8 23%048120

170 £H & 49 47 96 19.2 |76.8 23%04812H 195 =% Jo— 45 | 52 97 19.2 |77.8| 235048128

171 KE 80 46 44 00 |13.2 | 76.8| 235048128 196 | 55 T 54 | 43 97 19.2 |77.8| 235048121

172 F}AH 2 46 | 50 96 19.2 |76.8 23047120 197 | K3R 49 48 97 119.2 |77.8| 23045128

173 J¢H &8 48 54 102 |25.2 | 76.8 | 237048120 198 &7 | 1EFS 53| 55 108 30.0 | 78.0 | 235045128

174|8)I| T— 55 47 102 |25.2 | 76.8 | 23%04A11H 199 #¢_E &% 49 53 102 |24.0 | 78.0 | 23048128
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219 1FIF B2 52 47 99 20.4 | 78.6 23047128 244 | EH i 55 57 112 32.4 | 79.6 23%04A118

220 )l BZ 52 |53 105 26.4 | 78.6 23%04A11H 245 7R Hi 53|53 106 |26.4 |79.6  23%04A128

221 5)l| JBEB 54 145 09 20.4 |78.6 235048120 246 JfE 151E 51 42 O3 |13.2 |79.8 235048118

222 k5 F 55 49 104 25.2 |78.8 23%048120 247 |{Fh% IBT 54 | 50 104 24.0 |80.0 23%04812H

223 Efll BX 53| 51 104 |25.2 | 78.8 235048120 248 | BFHEP F=FE 49 49 98 18.0 |80.0|23%048128

224 fEH BN 54 50 104 |25.2 | 78.8 | 23048128 249 Al 6= 50 48 98 18.0 |80.0 234047128

225 FE Hif{ 56 54 110|31.2 | 78.8 23048128 250 (& (&= 54 56 110 /30.0 |80.0| 235045126
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267 K B3 47 49 96 14.4 81.6| 23%048118

268 FHEY FE 51 57 108 26.4 |81.6 23%048128

269 H I £IF 53 49 102 20.4 |81.6 23%048118

270 ¥y HIX 58 | 50 108 26.4 |81.6 23%048128

271 +8 S 51 61 112 30.0 |82.0 23%048128

272 iHED E— 56 |49 105 22.8 |82.2 23%04512H

273 F)I| == 57 62 119 36.0 |83.0 23%048128

274 bk g 58 59 117 33.6 | 83.4 23%04511H

275 BHEP R 60 | 60 120 36.0 |84.0 23%048128
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